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Two-Step Multiplication Word Problems All Multiplication

4. In a dance competition, there are 32 teams. Each team has
8 dancers. Each dancer has five pairs of dancing shoes.
How many pairs of shoes will there be at the competition?
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6. Satsumas are sold in bags of 15. A box of satsumas
contains 9 bags, and they are shipped in crates of 28 boxes
How many satsumas are in one crate?

“TworStep Multiplication Word Problems All Malipliation

5. Each car leaving a factory has 4 new tyres. 29 car
transporters leave with 11 cars on each transporter. How
many tyres are needed for all the cars?
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7. Agroup of school children travel by train. The children
are in compartments of 6 children. Each carriage has 13
compartments and there are 14 carriages on the train.
How many children are on the train?





